A = = HREE=ED



B7.3. X H5Y MBS, X ~ P(A1), Y ~ P(A2).
BZ =X +Y. K Z 053A0; ££Z = n AT, X 510

0 Z~PA +A): ¥Nn=0, P(Z=n)

CENAYF

P(X =KZ =) = ooy = Capta ™,

o kMo Ak I

tihAY BRLIT R hilfEd: mEE. KR



W74 X 15Y HITHGE, X ~ B, p), Y ~ B(a,p),
0<p<l AZ=X+Y.xK: Z W51i; ££Z = n BIFHT, X
(R 26 A 3 A

en=0,1---,n+ng. itg=1—p, WP (Z =n)

ni—k+nz2—(n—k)
ny 7‘L2| q

ickcn kk—i—n k

hilfEd: mEE. KR



o EHMAL WE=(XY) AKEHEEP(X,Y), Z=X+Y. N

pz(z) = fo p(X,z — x)dx.

o HEW(R4A.1): X, Y MEML, A HEEEpx, Py,
Mz =X +Y iEs® H

p2(@) = [ px(prz—x0ix = [ pxiz-ypriey.

ZIRLIIT Fy hilfEd: mEE. KR



141 & 4.2. WX, Y ) A LRSI A, BREE Ep(X,y) N

. u? — 2puv + v2 CX—W Y~
p(X’Y)—CeXP{—W}, (U— o Vo= s )

H, C=—L — RZ =X+Y WEE.
2wo1024/1—p

o py(z) = Swp(xz—x)dx éij{z—xHT




o HiR: #Hpz(z) =", p(xz—x)dx. EA:

A Au? — 2BuU + C?

}, S = X2 WL

01

h i) IS A=




o BA7: py(2) = Cexp { £=AC L S AL,

2(1—p2)

2
A=1+2pg—;+<g—;> <p+—>c c_2-(hifh)

HA, W= + Mo, 02 = 05A = 02 + 02+2p0,05.
o Fruith, #5p = 0 (BIX, Y AHEHSL), M

X +Y ~N(H + Mo, 07 + 03).

LAY BRLIT A hilfEd: mEE. KR



o 4.2 W(X,Y) HEEAEEP(X,Y).
BZ = X/Y (HY =01, EZ =0). Wz HiEs, H

pz(z) = f_ lyIp(zy,y)dy.

Yz .
f pxydxdy—f f p(yu,y)ydudy

= f_oo UO yp(yu,y)dy> du.

o FIAbFH ++, BiA],

hilfEd: mEE. KR



fld.4. X, Y AHEMSL, #ARMN(0,1). KZ = X/Y B

o BREHE:
(x.y) = 1 XAyl
pXx,y) = o exp 5 .

LAY BRLIT A hilfEd: mEE. KR



o SEHIA3. RKE = (X,Y) NELT, HHEEP(X,Y).
587

o if: VD < G, #D* c A fiiffne D iff £ ¢ D*. T &,

P(x) =P(x) = ffp(x,y)dxdy = Jj *+dudv.
D D

ZIRLIIT Fy hilfEd: mEE. KR



Bil4.5, 4.7, & IR —=. 21. fREX,Y I, ZBARMN (O, 1).
o FMRARRFRIA:

X =Rcos®, Y =Rsin0O.
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Lre 2, r>0,0<8 <2m 8Tm
o R,0 M3 pre(r,8) = pr(r) pe(0).

tihAY BRLIT R

hilfEd: mEE. KR



o W:=R?=X2+Y2~ Exp(3). FHN, ¥Yw >0,

X =+v—-2InUcos(2nV), Y =+—2InUsin(2nV).

tihAY BRLIT R hilfEd: mEE. KR



2. A BEALAZ B Y R A A B A S 22

o BEAIL Ik bR ) JT 2 (5 £14.6):
BHREF(X,Y) Zf X, ¥;)P (X = xi, Y =y;).

o JEMAS5. X HY MEIAL,
Wvar(X +Y ) = var(X) + var(Y ).
o if: KE=E(X+Y — (EX +EY))?
= 7E+2E(X EX)(Y —EY).

A) BRLITH hilfEd: mEE. KR



